Quiz 58

1) Plan the play in 6 with these cards.
A2 West leads aQ.
vJ875
+QJ9864 Can you see how to make the slam double dummy?
&AQ
AQJ8764 N A1053
vKQ W E | v9%
*K72 S +103
%96 1087542
A AK9
vA10432
*A5
«KJ3
2) This time the contract is 4%
AAG4 West leads aK.
vQ1052
#1065 What is your plan?
«~A83
aKQJ9 N AT732
v73 W E | vYKo4
+ K92 S +Q843
%10752 *J96
1085
vAJ98
*AJ7
+*KQ4
3) Another 4w contract.
AJ654 West leads «K.
vQJ102
+KQ8 How do you plan the play?
A9
aK107 N AA98
v9 W E | 843
+J642 S +1073
«KQ1063 *J752
aQ32
vAK765
¢ A95
84
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